FgArea: ['W2' ]
NC11 EQ4
2025-06-02 (Day 10)
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Trend plot forEQ4AW_W2
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EQ4AW

BYiE) | GEBERTIC (RD) | EBE (BAH/FK) | BBREE (BF/R) | X8 ERF

06:25 48 30.0 0. 052 B5| TNHA@06:25 KENFERF (RF1EREER)
07:25 48 30.0 0. 052 B FmHA@O7:25 KENFEF (RA{EEEE)
08:25 48 30.0 0. 052 Ag| TnHRe08:25 KENFEF (KAEREES)
10:55 48 30.0 0. 052 RS FiHRe10:55 KREEF (GREAERSE)
Bit| 192.0 (%) 120.0 3EUHKEC: 2600.0, PH: 6.2

unusual large postFgEt from yesterday (104), set to 90.0 ml
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EQ4AW

BYiE) | GEBRRTHC (R)) | EBE (BEA/FK) | BREE (BF/R) | X8 SRR

06:20 40 30.0 0. 052 FA| {Ri&@06:20 Fz (kAEEEE)
07:20 40 30.0 0. 052 PE| {Ri&@07:20 Fz CGRAERSE)
11:55 40 30.0 0. 052 FB| {Ri&@11:55 F3 (FRAFEBESE)
21t| 120.0 (3%) 90.0 32933 %EC: 2000.0, PH: 5.8

large discrepency for begining water status (99:297.0), set to 99 ml.
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EQ4AW

BYiE) | GEBRRTHC (R)) | EBE (BEA/FK) | BREE (BF/R) | X8 SRR

06:35 60 30.0 0. 052 FA| {RRi&@06:35 Fzi (kAEREEE)
07:35 60 30.0 0. 052 FA| 1E2i1&@07:35 Fzh (RFATREEE)
08:35 60 30.0 0. 052 FB| {Ri&@08:35 F& (FAEESE)
21t| 180.0 (3%%) 90.0 3233 %EC: 2000.0, PH: 5.9

EIRGEBBTHCRIZIRELZIY (50 vs 42.0))

ZRIASCPRIERES6. 0 ml.

large discrepency for begining water status (91:296.0), set to 91 ml.
REXEEBIEC (1967.0) 5FMEC (2513.0) REKR K, HFHE
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EQ4AW

BYiE) | BT (F)) | s (EA/ER) | EBlEE (B/R) | XK SRR

08:40 60 30.0 0. 052 RS {Ri&e08:40 Fz (RFAEHE)
12:05 60 30.0 0.052 [&=| fRige12:05 Fzh (KAFHE)
23t 120.0 (2%) 60.0 3 KEC: 1920.0, PH: 6.1

EREBRRTACRIRIE L Z I (60 vs 42.0))

ERINEPREBE43.0 ml.

large discrepency for begining water status (35:291.0), set to 35 ml.
REXEEBIEC (1901.0) 5FMEC (3037.0) REKR K, HFHE
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